BILFIBA ERSOFE
KB IEB KA B 48178 58228 68198 78188 88218 98198 108168 118138 128188 18228 28198 38138 == RIE Fig
7K B (0 10.1 15.0 180 219 234 218 186 15.0 86 6.2 53 74 234 53 14.3
— i B (18/mL) 0 0 0 0 0 0 0 0 0 0 0 0 0
AN i N2 N N AR AR AR N1 N N AR AR N2 N
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v ZE RV Z OIS W Mg <005 <005 <005 <005 <005 <005 <005 <005 <005 <005 <005 <005 <005
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1= (T ) > (mg/L) 6.9 6.0 6.0 6.1 58 57 6.3 6.7 6.1 6.0 6.6 74 74 57 6.3
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1, 2 - Y2 00I%F Y meg/lL] <00002 <00002 <00002 <00002 <00002 <00002 <00002 <00002 <00002 <00002 <00002 <00002| <0.0002
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